LET’S MAKE A PROOF

Complete each two-column proof.

Proof 1

Given: KM || LN
KL || MN
Prove: AKLN = ANMK

L N

KM || LN

ZLNK = ZMKN

ZLKN = ZMNK

COUNTDOWN TO CONGRUENCE KZO

LeE-A*R°*N



Proof 2

Given: LV = /Y
VY bisects WX at Z Vi Y
Prove: AVWZ = AYXZ

w

LV =Y

VY bisects WX at Z

Vertical Angles Congruence Theorem

AVWZ = AYXZ

COUNTDOWN TO CONGRUENCE KZO

LeE-A*R°*N



Proof 3

Given: M is the midpoint ofﬁ

N 4 M C
M is the midpoint of BC B

Prove: AABM = ADCM D

M is the midpoint ofE

Definition of Midpoint

AABM = ADCM

COUNTDOWN TO CONGRUENCE KZO

LeE-A*R°*N



Proof 4

Given: BX bisects YZ at B

XY = XZ X B
Prove: AXBY =~ AXBZ

VA

COUNTDOWN TO CONGRUENCE KZO

LeE-A*R°*N
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